1.53

= Y0

Vg

(b) Voltage gain

io_Rs
i;Rs + R;

1
90.9 X —
101

=09V/V=-09dB
Uplo

iy

= 0.9 X 90.9

= 81.8 W/W = 19.1dB

(c) Power gain = Ap =



Ex: 1.12

= 1X—10— - 107V = 10 uV

10" + 10

=g§. 2

P, = vh/R, = &X]_(‘)O_) =10"w
With the buffer amplifier:
N N

R; + R R, + R,
six o x1x—10_ -2V

1 +1 10 + 10

R, 10
Voltage gain = 2 = 025V _ 925 viv
Vg 1V

= —12dB

. _pP
Power gain (A,) = F,
where P, = 6.25mW and P; = v;i,.
v, = 0.5V and
: 1V
;= ——————— = 0.5 pA
T ITMO+ MO »
Thus,
P; = 05X%X0.5 = 025 pW
and,

-3
A, = 6.25 X 10_6 - 25 % 10°
0.25 X 10
10log A, = 44 dB



Ex: 1.20 Using transresistance circuit model the
circuit will be

i

i

i, 3R IR,
S >
i _ ks
ls R,- + Rs
R
Vo = R, i; X L
0 mbi RL + Ro
Vo _ R,
i "R, + Ro
Now Yo = Yo, i R, Ry« _&s
Is l ls R+ Ry R+ Ry
_ Ry R,




